Reciprocal Trig Ratios

1.  Determine the exact value of the following trig ratios.
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2. On a unit circle, if the point 
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 lies on the terminal arm of an angle in standard position, what are the exact values of the 6 trigonometric ratios?

3. Given that the point 
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 is on the terminal arm of 
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, determine the exact value of the six trigonometric ratios. 

4. Given that 
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, where 
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, determine the exact value of the other 5 trig ratios.


5. Given that 
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determine the exact value of the five remaining trigonometric ratios.
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